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I lab 2 you where to use the adapter pattern to allow theWAV IN andWAV OUT
classes to work with theFolder class. Describe how your solution to the lab was similar
to the examples of the Adapter pattern in the book. Describe how your solution differed
from the examples in the book.
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Complete the sequence diagram below describing the call sequence used to create a
summary of thealbum andsong objects.
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Rewrite thecreateAbstractFactoryMaze to create the following standard standard
maze:

Recall the following:

class MazeFactory {
public :

/ / . . .
virtual Maze∗ makeMaze ( ) const ;
virtual Wall∗ makeWall ( ) const ;
virtual Room∗ makeRoom(unsigned int rmNum) const ;
virtual Door∗ makeDoor (Room∗ rm1 = NULL, Room∗ rm2 = NULL) const ;
/ / . . .

} ;
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int main ( )
{

MazeFactory f a c t o r y ;
Maze∗ mazePtr = createAbstractFactoryMaze ( f a c t o r y ) ;
return EXIT SUCCESS ;

}

Maze∗ createAbstractFactoryMaze ( MazeFactory& f a c t o r y )
{

Maze∗ theMaze = f a c t o r y . makeMaze ( ) ;
Room∗ r1 = f a c t o r y .makeRoom ( 1 ) ;
Room∗ r2 = f a c t o r y .makeRoom ( 2 ) ;
Room∗ r3 = f a c t o r y .makeRoom ( 3 ) ;
Door∗ dr1 = f a c t o r y . makeDoor ( r1 , r2 ) ;
Door∗ dr2 = f a c t o r y . makeDoor ( r2 , r3 ) ;

theMaze−>addRoom( r1 ) ;
theMaze−>addRoom( r2 ) ;
theMaze−>addRoom( r3 ) ;

r1−>setSide (Room : : North , f a c t o r y . makeWall ( ) ) ;
r1−>setSide (Room : : East , f a c t o r y . makeWall ( ) ) ;
r1−>setSide (Room : : South , dr1 ) ;
r1−>setSide (Room : : West , f a c t o r y . makeWall ( ) ) ;

r2−>setSide (Room : : North , dr1 ) ;
r2−>setSide (Room : : East , dr2 ) ;
r2−>setSide (Room : : South , f a c t o r y . makeWall ( ) ) ;
r2−>setSide (Room : : West , f a c t o r y . makeWall ( ) ) ;

r3−>setSide (Room : : North , f a c t o r y . makeWall ( ) ) ;
r3−>setSide (Room : : East , f a c t o r y . makeWall ( ) ) ;
r3−>setSide (Room : : South , f a c t o r y . makeWall ( ) ) ;
r3−>setSide (Room : : West , dr2 ) ;

return theMaze ;
}

Recall theAudioClipManager class developed in class:

class AudioClipManager {
public :

static AudioClipManager∗ get Ins tance ( ) ;
void play ( AudioCl ip∗ c l i p ) ;
void stop ( ) ;
static void cleanUp ( ) ;
/ / . . .

private :
AudioClipManager ( ) ;
˜ AudioClipManager ( ) ;
static AudioClipManager∗ i ns tance ;
static AudioCl ip∗ prevC l ip ; / / C l i p t h a t may s t i l l be p l a y i n g from

/ / p r e v i o u s f u n c t i o n c a l l
} ;

Draw the sequence diagram for the code in thefor loop below:

int main ( )
{
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AudioCl ip song ( /∗ whatever i t t a k e s t o a c t u a l l y c r e a t e one of t h e s e∗ / ) ;
for (unsigned int i =0; i <3; ++ i ) {

( AudioClipManager : : ge t Ins tance ())−> play (&song ) ;
}
return EXIT SUCCESS ;

} ;
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AudioCl ip∗ AudioClipManager : : p revC l ip = NULL ;

AudioClipManager : : AudioClipManager ( )
{
}

AudioClipManager : : ˜ AudioClipManager ( )
{
}

AudioClipManager∗ AudioClipManager : : ge t Ins tance ( )
{

if ( ins tance==NULL) {
i ns tance = new AudioClipManager ;

}
return i ns tance ;

}

void AudioClipManager : : p lay (const AudioCl ip& c l i p )
{

if ( p revC l ip !=NULL) {
stop ( ) ;

}
prevC l ip = c l i p ;
/ / s t a r t p l a y i n g

}

void AudioClipManager : : stop ( )
{

/ / s t o p p l a y i n g
}

void AudioClipManager : : cleanUp ( )
{

if ( ins tance ) {
delete i ns tance ;

}
}

• •
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Explain how thecommandpattern can be used to facilitate “undo/redo” support. Dis-
cuss the two techniques used to implement this action.
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Suppose theState pattern is used to implement a singly-linked list class. Indicate
what classes associated with the State pattern should be created (along with member
functions) in order to handle the following operations:

{
SLList<int > l s t ;
l s t . push f ron t ( 1 ) ;
l s t . push f ron t ( 2 ) ;
l s t . push f ron t ( 3 ) ;

}

Draw a sequence diagram describing the sequence of events for the above code.
You may assume that the state objects are already created (just tell me what they are).
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